
                                                            ä³ï³ëË³ÝÝ»ñ  ùÇÙÇ³   

   Â»ëï 1 Â»ëï 2 
1 2 4 
2 2 3 
3 4 2 
4 2 3 
5 1 2 
6 1 3 
7 2 4 
8 2 1 
9 1 3 
10 2 1 
11 2 3 
12 3 2 
13 2 4 
14 3 2 
15 3 3 
16 4 1 
17 1 3 
18 1 2 
19 4 3 
20 2 1 
21 1 2 
22 1 3 
23 2 4 
24 1 ¨’ 2, ¨’ 3 å³ï³ëË³ÝÝ»ñÝ ÁÝ¹áõÝ»É  ×Çßï (1 ÙÇ³íáñ) 
25 3 1 
                          Î³ñ× å³ï³ëË³Ýáí ³é³ç³¹ñ³ÝùÝ»ñÇ å³ï³ëË³ÝÝ»ñ 
26 3 2 
27 276 6 
28 8 11 
29 15 22 
30 3 1 
31 1 2 
32 168 112 
33 1 2 
34 5 5 
35 699 466 
                       ÀÝ¹³ñÓ³Ï å³ï³ëË³Ýáí ³é³ç³¹ñ³ÝùÝ»ñÇ å³ï³ëË³ÝÝ»ñ 
36 1. C0-4e C+4           1 

S+6+2e S+4     2 
2. 2 

 

 
1.    C0 - 4e C+4           1 

  S+6+2e S+4       2 
  2.     1 

 
 
 

37 
 
 
 

1. MgCl2+2AgNO3=Mg(NO3)2+2AgCl 
2. 0,72ÙáÉ AgNO3,                                    

0,5ÙáÉ MgCl2    (³í»ÉóáõÏ) 
3. 103,32 · AgCl 

1. MgCl2+2AgNO3=Mg(NO3)2+2AgCl  
2. 0,6ÙáÉ AgNO3  ( ³í»ÉóáõÏ),                 

0,25ÙáÉ MgCl2     
3. 71.75 · AgCl 


